
1 Dixit & Stiglitz�s model of monopolistic com-

petition

Objective:

* introduce model of product di¤erentiation driven by a sheer taste for variety
(not out of risk diversi�cation or distance)

* study market equilibrium and entry



* ask whether markets will provide too much or too little entry

�business stealing forces tend to create too much entry

�but perhaps that result is not robust to other circumstances

* steps: 1. consumer optimization; 2. �rm optimization of production scale
and entry decisions; 3. solving for number of �rms; 4. comparison to planner
solution



n �rms (n large) producing respective di¤erentiated goods x1; x2; :::xn which
sell for p1; p2; :::; pn

Good x0 is the numeraire

Representative consumer has preferences
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Consumer maximizes utility given prices

Free entry (so zero pro�ts in equilibrium)



1. Consumer behavior

Using budget constraint, express consumer�s problem as,
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not an explicit solution (eq 7 in paper).



2. Market behavior

Note problem for a �rm: changing own production pi will directly reduce de-
mand xi but will also trigger changes in demands for (and prices of) other
�rms, a¤ecting elements q and y.

But if we could consider q invariant in �rm�s decisions on xi and pi, then
demand elasticity facing �rm is easy to characterize. To con�rm, note,
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Thus, elasticity of demand facing �rm i is
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Can we consider dqdpi ' 0?

Yes if n is large. Changes by one �rm have negligible aggregate e¤ects

q is de�ned as
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Now note that in symmetric equilibrium, y =
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which goes to zero as n!1, so �rms behaving as if in partial equilibrium is
warranted, and we can consider demand of the form
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However, equilibrium market demand (Chamberlinian demand) is less elastic
because of general equilibrium e¤ects.



Firms solve
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In a free entry equilibrium, we must have zero pro�ts:
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3. Solving for number of �rms

Foc of consumer was,
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where
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is a function of n�; x� and parameters.

We would like to compare this solution to that which would emerge from a
planner�s program.



4. Planner would use marginal cost pricing and cover �xed costs through
transfers �nanced with lump sum taxation

So planner would solve,
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might as well perform both optimizations simultaneously,
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yielding planner solutions (xp; np).



4. To compare market and planner solutions use more speci�c example:
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so we can write,
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and some more algebra leads to the solution...
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Now turn to the example�s planner�s solution to complete the comparison.



The planners Focs were,
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leaving,
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The planner chooses the same quantities!



Then, using example utility speci�cation in �rst planner Foc,

n
1��
� = c

ux0
uy

= c
�x��10

�
n
1
�x

�
x�0

n
1��
� = c

�

�
n
1
�x

�
x0

n
1��
� = c

�

�
n
1
�x

�
B � nf � ncx

n
1��
� (B � nf)� n

1
�cx = c�n

1
�x

n
1��
� (B � nf) = n

1
�cx (1 + �)

B � nf = ncx (1 + �)

B = n (cx (1 + �) + f)

np =
B�

(1 + �) �
1�� + 1

�
f



So is it true the market will generate too much entry?
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a contradiction. The example illustrates the Dixit-Stiglitz argument that the
market may not create too much entry.

Intuition: business stealing e¤ect mitigated by di¢ culties in appropriating con-
sumer surplus.


